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General Instructions:
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper code No. 68 / ESS /1-A on the Answer-Book.

5. (@)  The Question Paper is in English/ Hindi medium only. However, if you wish, you can answer in any one of

the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,

Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any

errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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IMPORTANT INSTRUCTIONS

1.  This Question Paper Booklet contains two Question Papers - one based on revised study material
marked as NEW SYLLABUS and the other based on pre-revised study material marked as
OLD SYLLABUS.

2. NEW SYLLABUS is for those candidates who have registered for 2023-2024 (stream-I, Block-I)

admission and are appearing in October-2024 Examinations.

3. OLD SYLLABUS is for those candidates who has registered before 2023-24 (Stream-I, Block-I)

admission.
4. Candidates are to answer only one Question Paper from the given two Question Papers.
5. Candidates are not allowed to mix questions from the given two Question Papers.
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NEW SYLLABUS /T UT&RIshH

BUSINESS STUDIES
TR AT
(319)
Time : 3 Hours | [ Maximum Marks : 100
wES : 39U ] [ gutiek : 100

Note :

(i)

This question paper consists of 51 questions in all.

(i) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section - A consists of
Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and write the
most appropriate option out of the four options given in each of these questions.
(v)  Section - B consists of
Q.No. 21 to 35 - Objective type questions. Q.No. 21 to 35 carry 2 marks each (with 2 sub-parts of
1 mark each). Attempt these questions as per the instructions given for each of the questions.
(vi) Section - C consists of
(@) Q.No. 36 to 41 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 42 to 47 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
(c) Q.No. 48 to 51 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
‘F-I%E'ST :
(i) 39 IE-F H A 51 9 L
(i) -\ we e ¥ |
(i) AR T WA 3Tk 3k few M ¥
(iv) U -k | mina § :
T HE&A 1§ 20 Tk Igashedid YhR 6 I § S Y 1 37 &I ¢1 39 U H Y& § fou 1w =R
foredl # @ Tod IUgE fashey g iR fafaw | 8 4 2 Tl # stialte fasey faw @ &1 & wel
H afoent fed T forshedl # § %A Th &I ST A T
(v) @Ug-@H A g :
I HE@ 21 § 35 T AT U €1 U9 G 21 W 35 T Y U9 2 3Rl 1 § (Y SUNNT F |
Y&® 1 31) | Tcdeh T9 § & T8 GOl TR FeH ok SW T |
(vi) ®Ug -7 H wfae §
(a) T HEAT 36 ¥ 41 Tk 3110 Y ITT THR & T &, Th o 2 31 § IR ST ! T 30 § 50 IR
€l
(b) T T 42 § 47 Toh Y ST TR o Y &, T&F o 3 31h § 31R ST T T 50 W 80 T3 B |
() U AT 48 | 51 T <6l I YR & ¥ €, T o 5 31k ¢ 3R W 1 HHT 80 § 120 IR
2
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Note / gt .

(1) Answers of all questions are to be given in the Answer-Book given to you.
[T T o IR 3Tk & T STR-YReqen § § e |

(2) 15 minutes time has been alloted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 U9-T3 Sl Tgd o fare 15 faee 1w fen 7o ©1 99993 ot forawon Sraex # 02:15 9 fopan
ST e 02:15 I 9 02:30 I q% B kA YE-TF HI T R TH A & IRE A
SRR W FE W &l fea@i |

SECTION - A/@EUE - &

1.  The element of business environment that is shaped by beliefs and customs of people : 1
(A) Legal Environment (B) Economic Environment
(C) Social Environment (D) Political Environment
ST STTERTT %1 8 qeel Sl Al o1 GRONST T FAST T TN I Hll © -
(A) Tafees srdrera (B)  aTIfefer STererot
(C) ISR ATareRo (D) TSHId® FTreRo
2.  The function of management which bridges the gap between where we are and where we 1
want to go :
(A) Planning (B) Organising (C) Directing (D) Staffing
TS T 9% HrE S TH HaE & SR HEl S TIed & ok S % ST Rl QU R R
(A) ST (B) WS (C) fadem (D) Tfertente
3.  Long-term investment decisions are also called as : 1
(A) Working Capital Decisions (B) Capital Budgeting Decisions
(C) Dividend Decision (D) Financing Decision
et et fof ot hEeld €|
(A)  wreRfe gsi frof (B) STt astfez for
(C) ot fof (D) ferxite frofar
4. Infosys decides to open schools for lesser privileged children is an example of 1
environment.
(A) Economic (B) Political (C) Legal (D) Social
SRIEH = ¥ ToRITITehR e o=l < ferq foramer @ier 1 o feren ) 2@ EIRICIu
1 ST B |
NEEEIRED (B) TsHfd® ) fafusm (D) WIS
5.  Which of the following is not an importance of planning ? 1
(A) Reduces risk and uncertainty (B) Leads to efficiency in operations
(C) Delay in actions (D) Facilitates decision making
7 4 9 A 1 S 1 T Hewdl a6 2
(A) S qen A= w9 A -1 (B) Tl § HICH I SR A S T
(C) foram# T (D) frofar o9 & werar i B
e
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6.  The capital structure of an organization refers to the choice of the combination of : 1

(A) Dividend and wealth (B) Debt and equity

(C) Fixed assets and current assets (D) Fixed capital and working capital
Teh TS 1 Yoil @il o AN & =I I G4d Il g |

(A) T4 Td HUid (B) RO a1 HHdT

(C) Tt TefET den =Te] FeafEr (D) Tl getaar qen s qoi

7. Which of the following is not a feature of Business environment ? 1
(A) Interrelatedness (B) Dynamics (C) Complexity (D) Continuity
7 § § o W e areRen S T R T S ?
(A) TR Gefyar  (B)  Tfasiel (C) Sifeern (D) T

8.  Identify the correct sequence of steps involved in the planning process : 1

(A) Selection of course of action, Identifying alternative courses of action, Establishment of
objectives, Making assumptions.

(B) Establishment of objectives, Identifying alternative courses of action, Selection of course
of action, Making assumptions.

(C) Establishment of objectives, Making assumptions, Identifying alternative courses of
action, Selection of course of action.

(D) Making assumptions, Establishment of objectives, Identifying alternative courses of
action, Selection of course of action.

ST Yfshan § Aitfad =)ol o Rl STIhH i J8a hifaT :

(A) ST RN T AT, dhfedeh HIAYUTE ®i UgaH, Segd feRo, qaftgam fufo
(B) v i, Sehfeus wrEymferl ot 9g=M, Iugad SHAqvel 1 e, Jarga
(C) v Ty, qargam fmiu, dehfeaeh shriyonfersl i 9g9M, ST HAYel i AT
(D)

D) Yatae o, stv faui, Sefeus wrivonfer =t ugem, Sfad srivoelt &1 gAme

9.  Identify which of the following concept is involved in the product of T-Shirts ? 1

(A) Product (B) Price (C) Place (D) Promotion

Tg=H FifST &t = B § 9 H srauron 39 % e § afmfed €2

(A) SR (B) HHA (©) =M (D) Wexid
10. Creating a website and selling online is related to : 1

(A) Political Environment (B) Technological Environment

(C) Social Environment (D) Economic Environment

Teh SIS ST qT SAeg sel Y Heiferd €

(A) TSHfaeR AR (B)  Tehriehl SITTeRY]

(C) wrHIfSI STATeRol (D) STfefeR aTareR

mice
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11. Purchasing goods from a foreign country is called : 1

(A) Import (B) Entrepot (C) Export (D) Re-Export
e | A 1 TR FHgam ¢ :
(A)  SfrTq (B) A (©) frra (D) 9 T
12. Current assets are those assets that get converted into cash : 1
(A) Within six months (B) Within one year

(C) Between one and three years (D) Between three and five years

=1e] eafaar o efar St § S Jehe H ufafdd 2§

(A) B: HEHI o TR (B) e oY o 3T<L
(C) TH I T ad & TR (D) o & ufa ad & 3T
13. The persons who come in between the primary producer and the final consumer to promote 1
trade is called as .
(A) Trader (B) Middleman (C) Auctioneer (D) Agent

F TN Sl AR ohl WcHTf8d hid o e wrerfies Scareeh qen 219 Susiie & AeT 314 ©,
FHEA B |

(A) = (B) HeAH (C) HremHrera (D) Tsfe
14. In online buying the buyer drops the items selected in a . 1
(A) Shopping cart (B) Shopping box (C) Net card (D) Container
3ETET TIGER! H TUCER =3 i T8 a&gsil &l Th Y Sl §1
(A) YT e (B) T4 siiery (C) = wE (D) HeW
15. Funds required for purchasing current assets is an example of : 1
(A) Fixed capital requirement (B) Ploughing back of profits
(C) Working capital requirement (D) Lease financing
1] Hafaai & 9 & foru strevaes S 1 T I3 |
(A) TR OSft STavashd (B) @Y =l gH: faw
(C) rEIEia STt STaeehal (D) gl fafqaq
16. The term of trade ‘FOB’ stands for : 1
(A) Free on business (B) Free on board
(C) Fees on board (D) Fee on buying
SR T T S ol HEATI ¢ :
(A) W A fasH (B) I 3H WIE
(C) ™ T g (D) T 31 ST
(=]
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17. Plastic Card is the popular name for : 1
(A) Debit/Credit card (B) Cheque
(C) Digital Cash (D) Crypto currency
A 1S % fou <Rt 9 B |
(A) Efaerhfee =€ (B) <
() fefsea (D) Tl gat

18. The ability of a firm to convert an asset into cash is called . 1
(A) Liquidity (B) Solvency (C) Return (D) Marketability
ferelt el =l Tk et s et 6 ftefdd e i el ¢ |
(A) e (B) RURNYA &l (C) YoM (D) TOFFRHAl

19. refers to contracting out some of its activities to a third party which were earlier 1
performed by the organization.

(A) BPO (B) E-Commerce (C) Outsourcing (D) E-Banking

o1 1ef o Tt fafafri ® qea v S sy WA | T S yd § HireA gry fvfea
i ST ot |
(A) St e (B) E-hmd (C) @l e (D) g-efehT

20. From among the following, which is not an application of e-business ? 1
(A) Contract R & D (B) Online trading

(C) Online procurement (D) Online bidding
7§ 9 3F W E-=adE T TE T

(A) SR TUE € a9 (B) 3iared efen
(C) e &l (D) e arelt

SECTION - B/@Us - @

21. State the full form of the following : 2
(a) SEBI (b) FCCB
=1 =1 ol ®q i
@ T (w@idemw) (o) @@

22.

o5

Give an example of current assets. 2
Give an example of current liabilities.

=1 TRt o T Seretel St |
= TS 1 T ST S |

—_~ N /S~
=3 =3
~— ~— ~— ~—

=
£
=

[ Contd...

68/ESS/1-319-A | 7



23.

24.

25.

26.

27.

68/ESS/1-319-A | 8

Give one word answer :

(a) Itrefers to the process of eliminating unnecessary controls and restrictions on the smooth
functioning of business enterprises.

(b) It refers to reducing the role of public sector by involving the private sector in most
activities.

Tk 91 H ST i :

(a) T 3T U F GATE 9 Y 1 I o AU sTEwasw Fa=rr aen yfasii & 5o 9 2|

(b) et 31 TSt &1 o1 AitAfed hich AesIeh &5 i fHeh FH & 9 T

Give one word for the following :

(@) The component of marketing that relates to channels of distribution.

(b) The ingredient of marketing mix relating to informing, persuading and influencing a
consumer to make a choice of the product to be bought.

=1 % e weh wisg ST

(a) Toraur =1 g wmT fSraeRt Heier foamor e 9 7

(b) fauoH fag 1 9% AW ST WoY 5 T ATl SIS o 3 o I ATEeh hl AT oA, TAH
Ao T A | 7

Identify the following in e-banking transactions :

(@) A machine using which we can withdraw money from our deposit accounts at our
convenience.

(b) A convenient way of accessing the account any time, anywhere and any number of
times.

S-oifehTT T-aHl | T it Te whifs

(a) T TN TSR ITART Hieh B9 TT FIAHT STHER 79 @ ¥ & et ¥ahd € |

(b) WA Tk H o, FE ot qon fohat o oft i &9 9 U5 Tnfyd & & W |

State any two benefits of Digital India.

fefsreet wra & fensdl <1 ol 1 Seote e |

State whether statements are true or false :

(a) Objectives are the end results towards which all the activities are directed.
(b) A strategy is a general statement that guides decision-making.
(c) Policies are plans which determine the sequence of any work performance.

(d) Budget is a statement of expected results expressed in numerical terms.

e ST fof f Shem | steren 3 %

(a) EYF i 9o B ¥ et o) @t nfafafem ffem 2t €1
(b) TOHIT T T A & S TR A FRRT et ©

(c) faar 3 e At ¥ S foredt vl foares 3 sthm w1 ol Rt B
(d) =N T ®9 9 Goifad afikons i s 1 T HUE ¥

=
£
=
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28. Fill in the blanks : 2
(@) The date on which the Board of Directors declare the dividend is called the
date.
(b) dividend is also known as bonus shares.
Rad T ’Tﬁ'q :
(a) fo= fafa =1 fdem Auea enier &6t =won 3 &, fafyr sheard 2|
(b) TS SAE 379 off FEeArar 7
29. Which type of channel of distribution will be suitable in each of the following cases ? 2
(a) For a perishable product.
(b)  For durable products like Fridge.
e wfeerfoll # e # A w1 foaor Areaw 3ferd g ?
(a) Tormewiter Scare & ferq)
(b) Tirst S8 fears 3ae & forg |
30. State the full form of the following : 2
(a) OTCEI (b) UMS
=1 =1 7ol wq i
(a) 3T 3 & £ 1 (OTCEI) (b) I TH TH (UMS)
31. Identify the type of preference shares : 2
(a) The preference shares which can be converted into equity shares after a specified period
of time.
(b) The preference shares in which the unpaid dividends are accumulated and carried
forward for payment in future years.
AR 3T o TR 1 T8dM HITaIT
(a) U yEifeR ofw fo= weh fafvea stafy & g wwar siw # ufkafda feen st wewa 7
(b) TR iR Sfer R TR St e ) T S A ¥ fer s 3 et & s 9
SIS |
32. Identify the types of non-economic environment in the following cases : 2
(a) Demand for new clothes increases during festive session.
(b) Computer has outdated typewriter.
e fearfaal § TR-enfYier aTaeRe & YR i 98 HIfT :
(a) R % THF T FHIS HI A g Sl T |
(b) IR 7 TEWE Tl AT L e 7|
(=]
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33. List the four components of product mix. 2

IR g % IR "2l wi et S

34. Fill in the blanks : 2

(a) The depository receipts which are issued by a USA-based bank for trading only in
American Stock markets are known as .

(b) depository receipts are offered for sale globally through foreign stock
exchanges.
e o Rk
(a) U feuised Wig fomen ffaa ot emuiiRa sis g1 haa sHRed Wi Aifche H TR
% fau foan = €, &% ®Y H ST S €
(b) Tocef SR ISR & A 9 feutsedt TR o1 fieA Sfarsda sTeR W foan
SR |
35. Inrelation to Terms of Trade, match the terms given in column I with their meaning givenin =~ 2
column IIL
Column I Column II
1. COD (@) This includes all charges at the port of shipment upto the
loading of goods on board the ship and export duty.
2. CIF (b) It is a type of transaction in which payment for goods is
made at the time of delivery.
3. FOB (c) Itis an expression that is used as a disclaimer against clerical
errors.
4. E&OE (d) This includes the cost of goods, all expenses incurred for

taking the goods to the port of destination and insurance
charges.

IR T FafYd T 1 H < T8 1a) ol WY 11 1 U T8 396 319 o 91 faem swifsg |

Y - 1 Wy - 11

p—

. € 37 € (COD) (@) <Hil oieM SRUE W AT % SENl W e o it e @t e
gitafad 2d 2 |
. gt 31 uw (CIF) (b) 3z G- o1 wh e e A1 o T ST O T foRan ST R |

N

3. uw 3 & (FOB) (€) e ferushtar gt o foreg ST wep arecfiepaor 2 |
4. fwe S (E&OE) |(d) <oi wrar o) @W, Taed S<UTE do HId &l & ST qen S |ied
Tt yroes wftafera 2 |
i
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SECTION - C/@Us - T

36. State any two differences between a public company and a private company. 2

Teh HraSIeh et g it st o, fohl €1 STl a1 Seoiid hifsu |

37. Describe the role of SIDBI and SISI in providing support to small business in India. 2

IRA H 7Y SAIEM™ eIl Y A & for wRetar o 32 faerra da (Hest) oy Sem e
T’ (TH 31 TH 37%) i AT T G0 Sl |

OR/ 3rere

Describe the role of NSIC and NABARD in providing support to small business in India.

IRA & oY HFH I eIl U 3 B T o Sa e’ (T T o1 ©Y) IR ‘Fare’ i

oftreRT T 0 RIS

38. (a) Name the process of finding and attracting suitable applicants for employment. 2
(b) List the two sources of the process as named in (a) above.
(a) USFIR o TTT S 3TEQehl A1 Tl ST T 378 STR{d i ol Gfshal 1 M ST |
(b) ST (a) | & T8 A Ufehan % <1 Hal g S|
OR/3ar
(@) Name the process of assignment of job to the selected candidate.
(b) Name the process of introducing new employees to the organization.
(a) = foru T IEfiQER 1 W 3Teie gfshan &1 94 ST
(b) ETSH H T HH=IRE % qR=F HAA At ka1 1 7MW AT
39. Differentiate between Advertising and sales promotion on the basis of : 2
(a) Objectives (b) Nature
=1 o emyR W fagmaa’ e fasht Sadq' o =R e
(a) T (b) wFfd
40. Describe any two functions of stock exchange. 2
IR SR o feregl <1 Tl ot oo whifory |
(=]
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41.

42.

43.

44.

68/ESS/1-319-A | 12

State any two objectives of WTO.

" AT AR ST’ (WTO) o Tl <1 =9l o Ieei@ it |

OR/3ALdT
“WTO has been playing an important role in facilitating and promoting international trade”.
State any two Roles of WTO in the light of this statement.

" ST SATIR WIS AT SATIR shi FRHAT h T 36 9@ o H Heequl YfHert 1 @

B! 3H FHUA F IR H, TG AR TS i fohdi & yftrewisii 1 Seer@ Hifs |

Explain the relationship between planning and controlling.

‘e’ qen  fra=r’ § HelY ol THeET |

Which promotion mix is being referred to in the following statements ?
(a) Itis a paid form of non-personal communication through an identified sponsor.

(b) It is a short-term and temporary incentive to purchase or induce trials of new goods.

(c) Itis a direct presentation of the product to the consumers or prospective buyers.

1 ol ® forg daeia fag 1 3eorg foran o €2

(a) I8 U TgaH TRT 7T YrISTeh o HIeAT | GYWT 1 QI TR T TR- e TR ¥
(b) T T HA hl TG AT T & TAT YR LA 1 TERITE a4 ST Tiede & |
() % U ®Y ¥ I A1 Wi Shal bl Yeaerd: SIS W il § |

Amit is working in a plastic fabrication industry. He is the Human Resources manager and
has to recruit 15 salesmen for the company. After determining the qualification and experience
required for various jobs involved, he is in search for suitable candidates. For this purpose he
may use various sources from outside the organization. Explain any three such sources.

3 U e faior 32 § *Rika 1 98 AFd S9iEE YdYe § adl 39 R & fag
15 foshaeratadi i wdl et & 1 fafy= st & fau eevae Al wd s1ea o1 fofa o & 9=
I8 ST IHICAN i WIS H T 39 3T & o0 a8 G & o ¥ fafi= Eidl 1 3w
a1 1 T I 7 S 0T |

OR/3191aT

Sumit, the Human Resources manager of ST Ltd- an Electronics company has received a
number of applicants for the post of production manager. From among the various
applications he has to choose only one. Name the process which Sumit would use to choose

the most suitable candidate and explain the first two steps in the process.

T T Sl TH 31 fafiee & AHa domem e giHd o1 Sces Ja9e & U & folt g
e | o7eed U gu | fafy= stoeet § § 38 had Tk 1 =9 A ¢ | 39 UfshaAr it AW i
ot == gfta gaftm STHigar & 999 & folt ST 2 Tehal © a1 39 Ufehan & Jerm & =)0
HHEART

=
£
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45. State any three qualities of a good salesperson. 3
T 7= Tashaendl o fohwgl o9 011 1 Ieei@ hiTeIT |
OR / 31raT

Name any three advertising media and state their suitability.

fopgl < formma Hfifean o = IFST T 3ITeh! STFHIAT T 30 hifad |

46. Explain the three types of external trade. 3
eI IR & 1 TR FHEET |
47. Explain any three roles played by clearing agent in external trade. 3
e AR | A1 AH a1t Toie §R1 (918 ST areft &g i fies 99emse |
OR / 31raT

Explain any three documents used in External Trade.

TR AR § 39 fhu ST 91t hig i1 ST 9HeEsT |

48. Differentiate between public enterprises and private enterprises on the basis of any five points. 5

Tl ura forgell & MUR R ‘wrewites Sem’ aen ‘fast sem’ | ot ife )

49. Rotrex Ltd. has hired 2000 buses for the different routes for the passengers of metropolitan 5
city. In order to fill vacancies, it advertised in the newspaper and large number of applicants
applied for the same. The company has to now undertake the process of selection to identify
and select the best. Explain the first five steps involved in the process.

HEFTR o A0l o forq e fafiee 3 fafvs Amil & few 2000 o4 fd Wt 81 ol =l 93 &
o 9+ TR T3 | faqmod fean qen sueh foaq 9! @& | eiagee A 3o fhan | sedt &l 1|
TAIS T FE F AU T wisma g e §) 39 ufshn ® wimfea yes e =1 9eensy |
OR / 1<l
Naresh recently completed his M.B.A. from one of the Indian Institutes of Management in
Human Resource Management. He has been appointed as Human Resource Manager in a
Truck Manufacturing Company. The company has 1,500 employees and has an expansion
plan in hand that may require additional 500 persons for various types of jobs. Naresh has

been given the complete charge of the company’s Human Resource Department. List out
any 5 specialised activities that Naresh is supposed to perform as the Human Resource Manager

of the company.

T A T E H T IRAE JEYA G § A SHET Yo § AT 0 A § 1 3HR THh TR
ST P H WG GHIEE Ysiee ok €9 § g fRa e ¥ 1 et 6 U 1500 FHER € a9
ST Ueh foar Asrn § foren foru fafu= et o ferw 500 2Afafiem <l &) Sterserehar 81 Tehdt ¢ |
T <RI, FHEIHT o S e forem o1 g e g e €)1 T fR ure nfafafeat @ = e
TS K91 ! I h TG GHIEA Yoesh & €9 § o0 s i STavaehal 9 Hehd! ¢ |

]
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50. A company requires rupees two crore for inventory, payment of wages, maintaining bank 5
balance etc.
(a) Explain which financial market the company may approach and why ?
(b) Explain any four instruments to raise finance in that market.

Teh HPIAT Sl SaASl, ASIGH AN T1 Sieh I AT @A 3G o feTT 1 e T i Twehal § |
(a) THES foh TP 1 S H ot I=R # S =feq aen =i 2
(b) TH ISR T I9AN fohT M det fordl =R 99l 1 Ieei@ it |

OR / 37T
Differentiate between primary market and secondary market on the basis of any five points.
ferl uTa forgetl & STUR R Wi =R qen fadiaes aeR o =R <ifee |

51. Explain any five forms in which small business can operate in India. 5

TH g 979 ThR GHEET 58 YR # Sie SIeadd Toe i Tehd © |

-00o0-
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=
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| : 3 9 ] [ gutiek : 100

Note :
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il

(
(iii)
(

~—"

This question paper consists of 51 questions in all.
All questions are compulsory.
Marks are given against each question.

iv) Section - A consists of :
Q.No. 1 to 20 - Multiple Choice type questions (MCQs) carrying 1 mark each. Select and write the
most appropriate option out of the four options given in each of these questions.
(v)  Section - B consists of :
Q.No. 21 to 35 - Objective type questions. Q.No. 21 to 35 carry 2 marks each (with 2 sub-parts of
1 mark each). Attempt these questions as per the instructions given for each of the questions.
(vi) Section - C consists of :
(@) Q.No. 36 to 41 - Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.
(b) Q.No. 42 to 47 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
() Q.No. 48 to 51 - Long Answer type questions carrying 5 marks each to be answered in the
range of 80 to 120 words.
ﬁé’?‘l‘ :
(i) =9 IA-TF H P 51 T T
(i) |t g e B
(iii) I U A TR 3k feu M )
(iv) @Ug -k H e € :
T T 1 9 20 T TgIashedid YR o YA €, Sl oI 1 37 &I &1 T U9 § s H fqu 70 =R
foshedl § & a8 3uga foshe g &R faaw)
(v) W@US-WH b ¥ :
I HE& 21 ¥ 35 0 TS T T 1 YT HE&A 21 ¥ 35 0 TS Y9I 2 3Rl w1 E (S SUUT F Wy
Y& 1 3i%) | I I | I T8 o1 FTER T o I Qi |
(vi) @Ug -7 H e €
(a) IS TEAT 36 W 41 Toh 2Afery ITIT YR & U9 ¥, T o 2 31oh § IR I ! HH1 30 & 50 5
2l
(b) T T 42 W 47 T T IANT THR & T &, T&h o 3 37k ¢ 31X ST T HA1 50 | 80 15 ¥
(c) U A 48 § 51 T <6 I YR & U €, T & 5 31k ¢ IR W ! HHA1 80 | 120 IR
2l
mice
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Note / gt .

(1) Answers of all questions are to be given in the Answer-Book given to you.
[t Il o IR AR & T STkt | 2 o |

(2) 15 minutes time has been alloted to read this question paper. The question paper will be
distributed at 02:15 p.m. From 02:15 p.m. to 02:30 p.m., the students will read the question
paper only and will not write any answer on the Answer-Book during this period.

39 U9-T3 Sl Tgd o fare 15 fiee o1 wma fean 7o ©1 99993 1 forawor o § 02:15 9 fopan
ST e 02:15 I 9 02:30 I q% B kA YE-TF HI T R TY AAY & IRE A
SW-YRAh W FE W &l fea@i |

SECTION - A/@EUE - &

1.  The smallest unit into which capital of the company is divided is called : 1
(A) Share (B) Stock (C) Paid up Capital (D) Nominal Capital
o€ T TR T TRt et st gt favye St §, Fheemd ©
(A) @ (B) ®i® (C) = it (D) it it

2. The official signature of a Joint Stock Company is its : 1
(A) Common Seal (B) Name (C) Address (D) Place of Business
ferelt oot 3 oTIfereRTiien BEaier 3 g1 2 € :
(A) HEH Hel (B) =™ (C) T (D) =F99™ bl &I

3.  Giving advertisement in and distribute the same through newspaper vendors is 1
particularly suitable where the employer wants to engage the local people for specific jobs
only.
(A) Leaflets (B) Newspapers and Magazines
(C) Employment News (D) Both (B) and (C)

T o <ot a0 3% IHER foshaeli & Aread 9 faala & fovm ®9 9 39ge ©
ST Tl T @l ol fafvre uei & faw fge s 9 g |

(A) T (B) HHMER U el U1y
(C) TSR TR (D) (B) @ (C) <1
4.  Registration card of the employment exchange has to be renewed after how many years ? 1
(A) One (B) Two (C) Three (D) Four
USTR ST % TSR0 SIS 1 TR fohe gl & 9v=ma foram sman @ 2
(A) T (B) A (C) (D) =R
5.  Which of the following is the most common print medium for advertisements of job vacancies ? 1
(A) Newspapers (B) Magazines (C) Leaflets (D) Both (B) and (C)
7 & & 4 @ ve Rl 1w g fife mem €2
(A) THER T (B) e (C) W= (D) (B) @1 (C) 3HI
mice
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6.  Which of the following is the closing paragraph of the covering letter accompained with the
bio-data ?
(A) About the organisation (B) Request for future action
(C) Suitability of your candidature (D) Signature of the candidate

Trefafad § SF 91 IE-221 % WY FHeaT o2l hl FATET I § 2

(A) HTSA | Heifyd (B) wfasa hraTE i wrelH
(C) AUkl IFHIGE hl ST (D) SHICER T BEIER
7.  Basic needs of people like the need for food, clothing and shelter are known as :
(A) Social needs (B) Self actualisations needs
(C) Psychological needs (D) Esteem need
T ot SR STEYIHATT, S WHT, FHIST T Tk i SEAIIHANT FHeelld ¢ :
(A) HHITSTH G <l STeRgehdl (B) & Hfte aAraedehd
(C) Al STewrRan (D) e Tl HH hi A9kl
8.  The ability to persuade and motivate others to work in a desired way for achieving the goals
is called :
(A) Motivation (B) Communication (C) Supervision (D) Leadership

o8 Frardl ek g @&l st Wt o foTT SERT ohl Tk fomie ehR 9 hréd oA ok fow &1faRa feren
T €, FETd ©

(A)  @fgom (B) EHu” (C) wdas (D) g
9. Incentives that are directly related to money are called :

(A) Financial incentives (B) Monetary incentives

(C) Both (A) and (B) (D) Non-Financial incentives

T IRoMT St geret ®9 W YT 9 Helfed §, Feard ©

(A) fordta Jomd (B) Hifgeh YoM

(C) (A) T (B) < (D) TR-ferira fromg
10. Which of the following is the basic monetary incentive ?

(A) Pay and Allowances (B) Bonus

(C) Commission (D) Retirement Benefits

= § 9 9 o euRya I § 2

(A) ¥ T B)

(C) hHIEH (D) TSI TRVl TH

11. It refers to the whole network of financial instutions dealing in short-term funds, which
provides an outlet to lenders and a source of supply for such funds to borrowers :
(A) Capital Market (B) Money Market
(C) Stock Exchange (D) Secondary Market

SR TrerY Tamite eensti ol 39 I8 Sqaee § § S STeehlaid Sl & oiad ol Ufshal § He &,
1l €l € LT SRUGHAIST i <h19 Y& hi- el SRUT ATihc 311 shl It WISl T 1 HlId T hidl
3.

(A) STt AR (B) T AR
(C) I NN (D) fdiaes sk
R
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12. Itis aninstrument in writing containing an unconditional order, signed by the maker, directing
a certain person to pay a certain sum of money only to or to the order of a certain person, or
to the bearer of the instrument.

(A) Promissory Note (B) Treasury Bill
(©) Bill of Exchange (D) Commercial Paper

IE Y SR AT o SRS Ueh 1 Id-Xfed forfaa st & s foreht @ safaq o0t 9 fdw
T ¢ o yore H foeht we ffvea am-ufn &1 oram, fordt e safeq &1 o s e ug fonedt
31 AT =l 1T YU TEF, Tl HL |

(A) o= 9 (B) il ot

(C) fafma o= (D) dfurfsares a5

13. It is an organisational function and set of processes for Creating, Communicating and
delivering Value to Customers and for managing customer relationships in ways that benefit
the organisation and its stakeholders.

(A) Buying (B)  Selling (C) Delivering (D) Marketing
Ig Weh HiSHIcH T 3T fora yomedt & i Urees faior, W07 qern Urees sl He<d <dl § 991 TTeeh-
Helel sl TH) raferd il © gy deen o 39eh quremrdt 1 9rHT-ord 2id & |

(A) HA (B) fawa (C) faaw (D) foraom
14. This concept states that consumer needs and wants must be considered while producing a
product.
(A) Production concept (B) Product concept
(C) Selling concept (D) Marketing concept

I STIYNIN ool Hdl & for ford) off Sare o1 Scied hid THT UMK hi SAERIRdIs ud
TSIl bl &M | W@ AT

(A) AR ST (B) SIS TSRO

(C) fosha srarymom (D) foUum sreumon

15. One who usually uses the product or service is called :

(A) Buyer (B) Customer (C) Consumer (D) Both (B) and (C)
T S UT: G A Yl bl aredd B TN I §, Fed ¢ :
(A) sl (B) e (C) Sl (D) (B) de (C) €Al

16. Giving an attractive name, symbol or identy mark to the product to make a product different
from others so that it is known by the name or symbol or mark is called :

(A) Brand (B) Branding (C) Trade Mark (D) Both (B) and (C)
IS hl THY IR 3Te fad o forw =618 efrertier 9, fomg a1 qe= o <1 fSad 98 3are
3T AW =1 YgEE foe 9 S S, He © ¢

(A) Mg (B) wifen (C) <eHTh (D) (B) @M (C) <M

X

=
£

&=
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17.  When buying and selling of goods take place within the national boundaries of a country, it 1

is called :
(A) External Trade (B) Foreign Trade
(C) International Trade (D) Home Trade
St aeqstl 1 ha-faskar fafs= <o =t T wsti & offial Bt © I FEan
(A) Sl =R (B) faceft =R
© @ﬂ{iglq C2IEIE (D) Sltﬂ C2IEIE
18. The officials appointed by the government in its embassy to represent the country’s trade 1
interests abroad are called :
(A) Trade Commissioners (B) Trade Representatives
(C) Clearing Agents (D) Forwarding Agents

qehR g foqel | fod ot gaee § g few U sifysri ST oeaq <w % =R fedi o
wiaffeRe 3 €, Fead ¢

(A) SFUR KA (B) =R wfaffy
(C) I e ol Toi=d (D) T M TH=d
19. When buying and selling of goods take place across the national boundaries of different 1

countries, it is called :
(A) Import trade (B) Export trade (C) Entrepot trade (D) External trade

T FEgell 1 AT fafim el & T diell o R g ©, @ 5H e ¢
(A) 3T SATIR (B) T =R (C) YAfAfd =R (D) oI SR

20. A document prepared by the exporter or the forwarding agent on the basis of which the 1
custom authority calculates the duty to be paid by the exporter is called :

(A) Documentary Bill (B) Shipping Bill

(C) Shipping Order (D) Bill of Lading

T Yo 58 e 2196 A1 demere TS s ar © a0 e TR W heeq ARt |
Yok Tuifa #d €, Fearm ¢

(A) TEIrest foret (B) TSt foret

(C) SRS STRY-T5 (D) TSt foreet

SECTION - B/@vus - B

21. State the full form of the following : 1x2=2
(a) BPO
(b) KPO
=1 &1 faga &9 S
(a) St el
(b) k3T

=
£
=
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22. Identify the characteristic of a Joint Stock Company. 1x2=2

(@) The day-to-day management of the company is done by the elected representatives of
the shareholders called board of directors.

(b) The company enjoys continuous existence.

o S T ) R 3 Te i

(a) THEA 1 SHE YEER FUURK o 7 g At g R s B, 9 facwes wvead
Fed €|

(b) HEIAT T AT T BT 7 |

23. Fill in the blanks : 1x2=2
(a) data should contain factual details.

(b) When applying for a job, the
appropriate covering letter.

data should be accompained with an

ﬁTﬂW‘qﬁQ:

@ = H andfae faere g =ien |

(b) SR o foTQ wreiAn id 99 T[T & T T I AT eled Hewd gl =gy |
24. Give a specific term : 1x2=2

(a) Privately operated organisations whose main function is to introduce the job seekers to
their prospective employers.

(b)  The offices set up by the government for bringing together job seekers and job providers.
faferee am <ifs

(a) Tt &9 9 Heifera wSifaar e g wr ISR =reare &1 396 gefaa fFeiemst |

R AT BNl B |

(b) ECRN GRI YA shraierd fSieh R USTTR shi @IS L el 961 USHI Y& i 9l hl Th
e AT S 2 |

25. Fill in the blanks : 1x2=2

(a) is the process of telling people what to do and seeing that they do it in the
best possible manner.

(b) refers to the process by which a person transmits information to another
person.

e T Wi

(a) T ufshan & 9% g)1 Al I I oIarn S § fR S S S § 991 9%
gFfeea & foh 38 9 TS T o |

(b) =1 e 37 Ui 9 € fas gR1 uw =afa gE sAfad sl goa Ser €

(=]
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26. Give a specific term : 1x2=2
(a) These barriers take place when the sender and the receiver of the message interpret the
words, sentences, symbols etc, differently.
(b)  This mode of communication may be oral or written.

faferse am @ifs

(a) I LT & 3 Bl § Wi Fa¥ HoaTel o Teo UM ot SAfaal o i 98 a1 9
Yfteh 3ATfG § FHE 1 =R 37 S|

(b) TYTYT T I Ugfa Hifes Td wfses & Fehdt T

27. Fill in the blanks. 1x2=2

(a) results when receiver and sender of message do not trust each other.

(b)  The fear of losing authority over subordinates is called barrier to effective
communication.

TR T i

(a) TS HW YTaehl a2 ST WS STl Toh g8k W favard =&l ohid dl & Ry
AT
(b)  STefTEdl R SFYHR F FH B HT S JHE Y907 § ST HEAT € |

28. Give a specific term : 1x2=2
(a) Communication made between people through facial expression.
(b) Communication based on basis of relationships made by management.

T faferse = ST :
(a) SRk WIEl gRI HIul |
(b) TY FRI TG Tl & STTER I Y0 |

29. State whether the following statements are true or false : 1x2=2
(@) Stock exchange is a term commonly used for primary market.
(b)  Stock exchange is an organised market.

3ol HIfSTU foh FH FHer Tt 79T 316 ©
(a) PR SR Tk TH 8 € S TIROE: W SR % &9 H Je @ 8|
(b) IPR ISR Tk Hafeerd sk

30. Give one word answer : 1x2=2
(a) The market for short term funds.
(b) An instrument in writing (note being a bank note or a currency note) containing an
unconditional undertaking, signed by the maker, to pay a certain sum of money only to
or to the order of a certain person or to the bearer of the instrument.

T I8 h1 W ST

(a) 3TCYSHTCA <hisi & foll AR |

(b) % Ii-Xfed fafaa o= o § (S U Seh-HIe stoan ge1-1e 6 ©) e forem arem o1
TEAER Al § a0 forelt =afaa 1o wimH W yor@ H faet T2 o= aft we ffvea safaa =
3T ARG Al a1 dresh 1 Teh Y= T9F & 9= A 3 1 SR <l

]
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31. (a) List any two money market instruments. 1x2=2
(b) Give the full form of SEBI.
(a) H= SR o o=l <1 gl =t g=ht s
(b) SEBI &I fa&R whifsTT |

32. Fill in the blanks : 1x2=2

(a) Group of buyers for a particular product or service is called a
(b) Person who organises the various marketing activities is called a

ﬁaaww&q:
(a) T fafdre IR teran o & e sharsii 1 9e A € |
(b) =% s S fafa=r faaom nfafafet = =em g, A T |
33. Give one word answer : 1x2=2

(a) Separating of products into different classes on the basis of certain predetermined
standards.

(b) Activities that are undertaken for sale of products to the customers and the physical
transfer thereof.

T v | S ST
(a) F© 4 Fuia Il & MR R IAe) &I fafa= Sforl § geres &)
(b)  TTEhi I TEGST % = TN ST e T FA o forQ i stHaret nfafafimr

34. Give one word answer : 1x2=2

(a) These officials provide guidance to exporters abroad on behalf of the government of
their own country.

(b) A document that is obtained by the forwarding agent from the shipping company after
presenting the mate’s receipts to it.

T 91 | ST SIfST
(a) & SAfuepR) foqw # fridenl &l 70 TREAR FI TWH | ANGIH H © |
(b) T TEASS S HIS AR Sl Toie He THIG Y Hich Srersit et § U il ¢ |

35. Analyse and give answer : 1x2=2
(a) Itis an order placed for import of goods.

orm to be filled u the importer at the time of receivin e goods based on whic
b Af be filled up by th p th f g the goods based hich
goods are cleared from the port.

fargero ek R S
(a) % TG ST A & fore feam mn smew 71

(b) T EH 58 T R HIE YT hid THT S S © qel faeh SR | A1d S a<aTe |
Feptelt =t St ¥

=
£

&=
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SECTION - C/@vug - C

36. List any four economic policies. 2
forl = snfefer Hifaai =6t g=ht <ifSw)
37. How do judicial decisions constitute as part of legal environment ? 2
=nferen fore S faftes wefeor &1 s o € |
OR / 3teran

State any two responsibilities of business towards the shareholders or owners.
I i STV I A & Ffd forgi Q Il ol Seoid hifg |

38. Explain briefly any two limitations of ‘Government Companies’. 2
‘Tt Al ot fRel g et sl IHEs |
39. Why were public enterprises started ? Explain. 2
HreSi-eh 389 Fii YE fohT T ? IHemET |
OR / et

Differentiate between ‘Private Sector Enterprise’s and ‘Public Sector Enterprises’ on the
following basis :

(a) Capital and

(b) Area of operation

71 & R W s &9 o STl 9o Sesie &5 % SEHl § ST i |
(@) o
(b) T &

40. Identify and state the meaning of the process that is the ultimate outcome of planned 2
delegation.

SH skl i Te shitsiq qern e1ef TS it Fefsi Sferon s tf aiomm € |
OR / 37ra

Is planning probabilistic ? Explain.

1 frefe wevifaa 87 SHemsT |

41. State any four objectives of financial management other than maximisation of shareholders 2
wealth.

AT <l T h1 AThdH HT o SAfafier foeita Foie o for=dl =R 3wl 1 Seeid@ shifsg |
42. Explain briefly any three characteristics of coordination. 3
FHe <! fehel oI ferRoarel bl Herq # |Hesy |
43. Briefly explain any three objectives of management. 3
Tsit < Tl i< Seedl <l G&T H HHET |
OR / 3teran

Briefly describe any three characteristics of principles of management.

gsi o Tagidl st fehel 1A foroansti =61 w&q § oo wifse)

44. Briefly explain : 3
(a) Policy and (b)  Rules as type of plans
T T WHEET :
(a) it qen (b) T 6 S % YRR &k w9 H
e
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45. Besides the classification of products on the bases of “use” and “tangibility’, there is another
basis on which products can be classified. Name the bases and explain the types of products
on this bases.

‘I9ATT’ AT T’ ok SATIRE SCIGT o TR ol Teh 3T STTUR ot § | $9 STER 1 A1 SITSIC ae
THh SR T 3] o ol ohl FHEAET |
OR / 3eran
Besides ‘cost’ and “demand’ there are three other factors that affect the pricing decision.
Briefly explain the factors.
‘rra’ den ‘\i' % Sifafted dF o %Re B4 € S qed fERer @ gwifad w1 39 wRel
] WYY H THHART |
46. What is meant by ‘Consumer Protection” ?
" U IR HXETT’ 1 o e © 7

47. Briefly explain the ‘right to be informed” as provided under the Consumer Protection Act.
IqTeRT H&0 SAfufEd & F<id YeM fRT T = uH o SR s JHAE

48. What is meant by delegation ? Briefly explain its elements.

STOT 1 AT 3T T2 THh HEHh! hl WA H THARY |

OR / et
Briefly explain any five points of importance of planning.
ST o T o Tl ura fergail o1 Hera o 9usmgu |

49. State any five main objectives of ‘Financial Planning’.
“famirr 2o’ & Tl O g Sewdl o1 Sooid hifeTy |

50. ‘In order to assess the fixed capital requirements for any business enterprise, one must be
fully conversant with the factors that influence such requirements’. Briefly explain any five
such factors.

‘forelt Srarefosh SUHH ht TR USit  STAvIshdl % Thel §q B4 9 STEvgehdl sl JHIfad Htd
AT HRehI I STHHN JUied F B! =fee’ | U forsl oie wReni o1 Harg o 99eisu |
OR / e
‘Adequate working capital is very necessary for maintenance of liquidity and running the
business smoothly and efficiently’. In the light of this statement briefly explain any five
factors affecting the working capital requirement of business.
‘fohrelt e % Tad €9 H TE FICAES Haed & faT SR aed s @ 7] s " H
TS Yoit T BT g STvdh €1’ 39 FUF % T | fohedl e ot s g sl guifed
T a1 Foh Wi Rl WA H TR |
51. Explain “price” and ‘promotion” as components of marketing mix.
‘e’ qen ‘ye’ o fauue g o wewl % w9 | aHemE |
-00o0-
s
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